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300.-watt floodlight is 120 volts, what is the cur-
rent through the floodlight?

(1) 0.40 A (3) 75A
(2) 25 A (4) 48 A

@ If the pot_ential drop across an operating

a The heating element on an electric stove dissi-
ates 4.0 x 102 watts of power when connected
to a 120-volt source. What is the electrical resis-

tance of this heating element?

(1) 0.028 (3) 3.3Q
(2) 0.60 Q (4) 36 Q

@ The diagram below represents an electric cir-
cuit. 5 :

40V

O

I Power Supply I

The total amount of energy delivered to the
resistor in 10. seconds is

(1) 3.2] (3) 20.]

(2) 5.0] (4) 3207

An immersion h ; i
@ : on heater has a resistance of 5 '
while drawing a current of 3.0 ampere.s(.) chlcr)I\I; : K

much electrical enerev is del:
gt gy is delivered
during 200. seconds of OPeratizlr'xef:’ e

(1) 3.0x10°] f o fn
(2) 6.0x 10°] bk : 31[84}

@ Trug or False, High resistance circuits use up more power than low
Resistance circuits when plugged into the same battery
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The diagram below shows a circuit with three
resistors.

R=40Q R,=6.0Q R,
AN AN ANV

24-volt 7N
source \A/
2.0A

@ Is this circuit series or parallel ?

@ What is the resistance of resistor R,?

(1) 6.0Q (3) 12Q
(2) 2.0Q (4) 4.0Q

The current flowing in the 6 ohm resistor is -
1) A 2) Lhnps  3) Fhap

i

<l' : What is the current in the circuit represented in the
. diagram below?

2an 3n

s o

6-volt
source

In the circuit diagram below, which is the correct
reading for meter V,?

55

l%’—]
1o-V 20V ?
scurce
e
20V

% - (3)90V
v (4) 110V
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; @ What is the current in the circuit represented in the

diagram below? 5 .

ey o

(—’\/\/\« _ NNV

6-volt
source

The diagram represents a

circuit with two resistors in 2o
series. If the total resistance
of R, and R, is 924 ohms,
the resistance of R, is

(1) 1.0 ohm

(2) 0.50 ohm

(3) 100 ohms

(4) 4.0 ohms

SOURCE

%o 1(5 In the diagram below of a parallel circuit, amme-
ter A measures the current supplied by the

\?)o/ 1)0-volt source.

ANV

120-V 20.Q $30.Q360.Q

source

E

@ Is this circuit series or parallel ?

Sopa

@The current flowing in the 20 ohm resistor is -
) Lo Y Anps 1) € Anp D12 Ny

@ The potential difference across the 60 ohm resistor is -
Daov 9l Yad  Praoy

@ The current measured by ammeter A is

O ZA-\ij 2) '%/-Amp;z :515,/5.—»,/75 :77 1l /Amf?),




In the -circuit diagram below, ammeter A
measures the current supplied by the 10.-volt
battery.

=10.V 40.Q 40. Q

=

i
The current measured by ammeter A is

. 0.50 A
i) g:(l)SAA ' i)) 4.0 A
bo 1L

e

Base your answers to questions 96 through 100 on the
diagram below which represents an electrical circuit.

8

)

100 If another resistanc

-

(B

N/

d.c. source
12 volts

R, 2 10.0

R2§15 n

96 The equivalent resistance of the circuit is
(1) 25 Q (3)5.00
@) 6.0 Q (4) 0.17 Q

97 Tl';e potential difference across Rz is
L) 1.0V (3) 10. V
oy . @12V

8 The magnitude of the current in ammeter Aj is
(1) 120 A e
@ (2) 2.0 A e (4) 0.83 A

@)Q Compared to the current in Ai, the current in Aj is

1 less
2 greater
3 the same

parallel, the e

e were added to the circujt in

quivalent resistance of the eirou
Ly , circuit

1 decrease
ATnerensl

3 5*:.\7 fant




In which pair of circuits shown below could the readings of voltmeters V 1 and V, and ammeter A be
correct?

\

100V =
source

A C
S5A
()
2 _L N7
SOV ==t S0EV =
source source ——
50.V 50. V
B D
(1) Aand B (8) Cand D

(2) Band C (4) Aand D
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(/} An electric circuit contains a source of potential difference and 5-ohm resistors that
/ combine to give the circuit an equivalent resistance of 15 ohms. In the space
in your answer booklet, draw a diagram of this circuit using circuit
symbols given in the Reference Tables for Physical Setting/Physics. [Assume the
availability of any number of 5-ohm resistors and wires of negligible resistance.] [2]
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122 Base your answers to parts a through d on the diagram below which represents a c1rcu1t containing a
. 120-volt power supply with switches S; and S, and two 60.-ohm resistors.

a If switch S; is kept open'and switch Sy is closed, what is the circuit resistance?  [1]

b If switch S, is kept open and switch S, is closed, how much current will flow through
the circuit? [Show all calculations, including equations and substitutions with units.]

(2]
¢ When both switches are closed, what is the current in the ammeter?  [1]
d When both switches are closed, what is the reading of the voltmeter?  [1]
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Base your answers to questions 58 through 60 on the information and diagram below.

A 3.0-ohm resistor, an unknown resistor, R, and two ammeters, A, and A,, are
connected as shown with a 12-volt source. Ammeter A, reads a current of 5. 0 amperes

5.0A

5
{ov= 3.0Q ' §R

58 Determine the equivalent resistance of the circuit. [1]

59 Calculate the current measured by ammeter A,. [Show all work, including the equation and substitution
with units. ] [2] : ‘

60 Calculate the resistance of the unknown resistor, R. [Show all work, including the equation and substitution
with units.] [2] . : : '




